
8" CIP FOUNDATION WALL SEE
SECTIONS ON S2.0 FOR DETAILS
- TYP.

FULL HEIGHT 6X6 POSTS PER
PLAN

ABU66Z POST BASE W/ 5/8"Ø X
12" GALV. EPOXY SET ANCHOR -
TYP.

(2) 9-1/4" LVL BOX GIRDER WITH
TOP & BOTTOM PLATE ON
HUCQ612-SDS BRACKETS - TYP.

(2) 2X10" LVL BOX WITH TOP &
BOTTOM PLATE ON
HUCQ612-SDS BRACKETS - TYP.

2X8 @ 16" O.C. ON LUS28
HANGERS - SLOPE PER ARCH. -
TYP.

5/8" ROOF SHEATHING - SEE
GENERAL NOTES - TYP.

MSTC40 STRAP AROUND CORNER @
BOX GIRDER - TYP.

SECTION 3/4"=1'-0
E

S2.1

SECTION3/4"=1'-0
F

S2.1

HSS COLUMNS PER PLAN W/ 1/2"
CAP PLATE - TYP.

14 GAGE METAL TRACK CURVED TO

MATCH BEAM @ EACH END

600S-162-68 METAL STUD PURLIN

(HDG) @ 12" O.C. W/ 4" BLOCKING
OVER CURVED BEAM FASTENED TO

HSS W/ (2) #10 TEK SCREWS - TYP.

GALV. ROLLED HSS8X4X1/4" SEE
ARCH FOR RADIUS W/ 1/2" END
CAPS - TYP.

1/4" THICK X 26" LONG CURVED BENT & BEHIND

FLASHING @ TOP OF CANOPY TO (3) TOP CFMF PURLINS -

FASTEN TO BUILDING GIRT. W/ (4) .157"Ø PAF AND

FASTEN TO PURLINS W/ (2) # 12 SCREWS EACH.

(2) LAYERS OF 3/8" SHEATHING
WITH ROLLED WOOD GLUE
BETWEEN & WINGED FLAT HEAD

#10 TEK SCREWS @ 6" - TYP.

SEE PLANS & BASE PLATE
DETAILS  - TYP.

7
 3

/
4
"

6" SLAB ON GRADE W/
THICKENED EDGE @ POURED
OVER CIP WALLS - TYP.

8" MIN. WALL @ COLUMN
ABOVE WITH ADDED COLUMN
REINFORCING PER BASE PLATE
DETAILS ON S2.0

HSS4x4x1/4" GIRT @ STOREFRONT.

HSS9x5x5/8" COLUMN @ STOREFRONT.

BUCK & STOREFRONT SYSTEM PER ARCH.

T.O. STL @ GIRT
SEE PLAN

GABLE TRUSS BEARING ABOVE, NOT
SHOWN FOR CLARITY

L3x3x1/4"x 4" LONG STL CLIP TOP & BOT
WELD TO GIRT AND FASTEN TO COL W/
(1) 5/8"Ø HOLLO-BOLT @ EA. -TYP.

3/8" STL CAP PLATE FASTENED W/ (4)
1/2"Ø CARRIAGE BOLTS RECESSED 1/2"
INTO WOOD TOP PLATES ABOVE.

DBL 2 11/16" x 11 1/4" HEADER PER PLAN

1/4"x10" TALL VERTICAL STIFFENER PLATE @
CL OF COL.31

2"

1/2"x 5" WIDE BEAM SEAT
WELDED TO STIFF.

(2) 5/8"Ø CARRIAGE BOLTS.  THRU
WOOD HDR AND STEEL STIFF.

DBL TOP PLATE

2x6 STUD @ 16" O.C. OR 2x6 FLAT PLATE
BUILD UP TO TOP PLATES

4"

2
"

3/16"

3/16"
TYP.

3/16"
(3) SIDES

SECTION3/4"=1'-0
G

S2.1

SEE ARCH FOR FLASHING &
FINISHES - TYP.

1 1/2" MIN. GAP

SLOPE PER ARCH.

NOTE: ALL EXPOSED STEEL SHALL BE HDG.
CONFIRM AESS LEVEL WITH ARCH.

1/4"
-TYP

#4 TIES @ 8" O.C.

(4) #5 VERTS @ PILASTER

SI
 # 

15
-02

08

PROGRESS D
RAW

IN
GS

NOT FOR CONSTRUCTIO
N

A
S 

N
O

TE
D

C
LA

R
K

IN
SU

R
A

N
C

E
ar

ch
ite

ct
s

D
at

e:
Sc

al
e:

R
ev

is
io

ns
:

Pr
oj

ec
t:

Ar
ch

ite
ct:

Co
ns

ul
tin

g 
En

gi
ne

er
:

Pr
ep

ar
ed

 F
or

:

48
 U

ni
on

 W
ha

rf
   

Po
rtl

an
d,

 M
ai

ne
 0

41
01

(2
07

) 7
72

-6
02

2 
   

Fa
x 

(2
07

) 7
72

-4
05

6

06
 O

ct
. 2

01
6 SE

CT
IO

NS

S2.1

AutoCAD SHX Text
10/06/16




